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' X 5 E DI4EE F OE Ol & (B oA H ) 19,489,800 M
I = & 5 F425 F EMAE (A E L &R HEK) 17,718,000 M
I = £ FE11 9288 (FEFT) JEBAEERMTETE & E B R & (H A HF) 17,930,616 M
I 5 5 KEBHITYE AE HA B I FRHE (A AL E L ERIEK) 16,300,560 M
AW % A H SH44E108268 FxEkmE BE—AIE HATHER HESFUHT
NO e RE"F R T N 117, 717X % =
1| (¥k) LEFEEER E% #— 17,620,000 2
21(B)MEIHEE Bl &X 17,670,000| 8
3|(AEAEE EBA EE[E 17,500,000| 1 &L
4| KFEEEZ (¥F) THK #=F 17,620,000 2
5/(F)BMEE Bm iF 17,670,000| 8
6| (#%) BRI BX E 17,640,000| 4
7| EFEE(R) i X# 17,680,000 10
8|mEEE =E T 17,650,000| 6
IEFEE =1 17,660,000 7
10| (%) fE#RHE B 1Ez 17,640,000| 4

E) TR &) ELREEIAAD
(AFLL%E 17,500,000 FF x 1.1 = 19,250,000 @ %Z4L£%8)

HERRUM A HETOEE 1,750,000 M
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' X 5 E DI4EE F OE Ol & (B oA H ) 20,266,400 H
I = & 5 $505 F EMM A (A E &R HEK) 18,424,000 M
I = % HEFYRTEGEETENERIEGERLAIR) | € & B @ % (& A &) 18,266,063 M
I 5 5 KEBHITYE KHTE HA KRR HE (A AL E L BRIEK) 16,605,512 M
AW % A H L4108 268 HiExTE SHETE HATHER HESFUHT
NO e PP T N 117, 717 X % =
1| FLBREEER (%) W [E—ER 18,320,000| 2
2| FAREER (¥K) wmAE RE 18,330,000 3
(R BHERKR HIFYEXR Al &%8 18,360,000 7
4| KFEEE (¥F) THK #=F 18,340,000 4
5((F)EIWEX (UESIN:IPS 18,300,000| 1 EAL
6| (%) EITFEIE #7H IEBH 18,350,000 5
U354 =E T 18,400,000| 12
8| Li#EEE (H) i X# 18,390,000 10
I RHIRERMAK (H) =H R 18,380,000| 9
10| (%) LBk E% #— 18,400,000| 12
1| (A BAREE e A 18,370,000| 8
12| (BR) AR H BX E 18,420,000| 15
13| (&) EREE 3R 1 #I E7 18,400,000 12
14| (%%) 11152 N3 pEsE 18,390,000| 10
15| (B) A IEE EH B= 18,350,000| 5

E) TR &) EILREEIAAD
(AFLL%E 18,300,000 F x 1.1 = 20,130,000 @ %EL£%8)

HERRUM A HETOEE 1,830,000 M
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' X 5 E DI4EE F OE Ol & (B oA H ) 34,690,700 H
I = & 5 $535 F EMAE (A E L &R HEK) 31,537,000 H
I = % HIFYRM/NEREEESTRZETS & E & R i & (H A HF) 31,915,444 H
I 5 5 KEBHITYET KN B I FRHE (A AL E L ERIEK) 29,014,040 H
AW % A H SH44E108268 FxEkmE EI=E HATHER HESFUHT
NO e RE"F R T N 117, 717X % =
1| () BRIERERE HESTYXIE | FK E—H 31,430,000 4
2| ALEREEER (¥F) W [E—ER 31,480,000( 8
3| (k) EREEER I #I E7 31,440,000| 5
4| (BR) FEAR R 1R B E 31,410,000( 3
5|(A)BHERIE il BX 31,300,000| 1 &L
6| F AR (¥K) wmAE RE 31,490,000| 9
71(A)RHEHRIE RH FK 31,400,000 2
8|(B)EILESE (UESI-TPS 31,450,000| 6
9| KRFEEE (FF) THK #=F 31,500,000( 10
10|(BR) ETHIE ##7H IEBH 31,450,000| 6

E) TR &) ELREEIAAD
(AFL£%E 31,300,000 F x 1.1 = 34,430,000 A XfL£%8)

HERRUM A HETOEE 3,130,000 M




£

fl

HE =

=
' X 5 E DI4EE F OE Ol & (B oA H ) 522,500 H
Z i F 5 $285 F EMAE (A E L &R HEK) 475,000
% it £ FHE22EBCERT) EBEMFTRIBEEEXKRE (R KB § B i & (& & &) - H
£ & B A KEBHITYET AE HA IE I FRHE (A AL E LR IEK) - H
AW % A H L4108 268 HiExTE EERR HATHER HESFUHT
NO e RPN T N 117, 117X % =
1| (B) LN ET BT i mEE 475,000( 10
2|1[EATE /LN —MBEELEHAR| HE BE 430,000 1 & HL
3| () BRAERE RN HSETYEEF | MHE K= 470,000 7
NEJEaESn A Bhx 460,000| 5
5|A—IT—arHILEAVE () R FZ 475,000( 10
6|AIEEET TR Ay AR 460,000, 5
7| AR B ERA TR ARE B 455,000 4
S| EELTEHALEILEN thfE SF 470,000 7
9| A BEESHEM AR E 450,000| 3
10|l OB ERFTEHA BO xX 470,000 7
1| (B) NBEEERFTEH AH FE 445,000 2
E) MBIk R LR B DA D

(A%L£%F 430,000 H x 1.1 = 473,000 H ZiL£%8)

HEBRRUMAEETOE 43,000 M




